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Factor completely:
1. 24x4 + 10x3 -4x2 2. -6x5+ 3x3

3. 15x2 + 26x - 21 4. 27x3+ 125

5. 8X3 - B4y3
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What 1s an ordered pair? ( X, @

What is and an orderedtriple? (¥,Y,2)




Unit 6 day 3 elimination 3 variables.notebook January 07, 2016

Solving System in 3 Variables ~ Which Variable
HX v 200N 4362 = Ux-7=1 would be the

<4X +2y+3z= 1 __ 771 easiest eliminate?
2x -3y +5z=-14 72

{

6x-y+4z=-1 X =
2\'\\»/\'\0@:%{ x

(

Ehmmate Variable to form
2 new equations with the

X2y + 32 = same 2 variables.

TIXHey -0z =0y

7& Ry-7z =29 347 (“5>;fﬂen use the elimination
Yyr2)-*process we used when we
“exxy-52=82 o ~¢ only had 2 variables.
% Y T4z = -] <
e %c\ .
& y-liz=y| Plug in both answers to find

3rd variable

%E) — )2 =29
Y 4iip = =q|

Uz =-12
4 4

Z2=-3

(3 -3 )
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Practice: Eliminate 4
7. 4X-y+3z=13> AX-y+232=13
E’X-I—y-l—ZZZ yr=2  XtYytz =2
X +3y-2z=-17
y (Q‘& OX + 42 =5 5xYl5)ls
Sx=-9
lOX+%2:30 _
B XA+ dy_22 - _ X=-]
|OX\2‘52:—\\S ~ DX ~33 3% _ l:(l
B o (N¥% o, —m—
%2“5‘;_3 <j§Z 2X_52:v25

2=5 (\/ /‘2/5\
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8. 3x+ty-z=-2 > g\w\'v@i &
(12X -y -2z=-12 i
4x +2y+z=1 X 32214 %
AED+2y 5= |
2 =
9T T HX-dy-Yz =-24
2y = _
S—o b x 1y +z = |
=0
IEND2=RY P - 32 =23 F O
—32="15
Z2=5 =[x-32=-1y
(-1,0,5) ~gX 432722
CbxsZEac
iy =1

X=-]
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) + — =1
9. 2§§+§1-§=-1

X+2y+2z=10
2% +z=3
C\\W\'\V\c;\'e %

_qX‘/Zg+Z%: 2

X 42422210
— Y

jk \—Sx “rqE —\2
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“HXyYZ =1L
-px -4z=-1&

—\\K=0
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10. 7x+y=8
y-7z=1350
+8Xx + 8z =-48

IXYy=¢
—YtizIsy

* X Jr7%:’q2,
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XA =48
Sox +72Z= YL
X +z=~0b
XY=t
O+0=0
]-n Q\'Y)\llr@
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